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1. wH ofifsrg B g § @ ot wft =afedl 0 4. If2 Tl x2 + kx+ 1= 0% gal & €= &
U G S ¥ e FEd 8 6 SH x, y Th- IR ged: V5 W FA T, Wl k227, 9 k
T A grEfEd § 9 e 9 oGl A T | fopg 2TqUe 1 RIS EEd B wRAl 87
faa gom e Frafafaa § @ -1 wd ?7

(@ (=3, —2JV[2, 3
(a) T8 TR TH gl G R

(b) W WA Wged A8, Afe wufa 9 B 59
SEEE © -3, -21U, 3]

(c) ¥ "y wufha Td 7, Af wEged | (@) < @ P T

HeRTHS B

(d) T8 G ST TR 3, W wEged |

qufiE 8 5. ﬁmx2+px+q=0aﬁ%ﬁaﬂmﬁ
o 3 N T 12 + b+ m = 0% T B
2, @ Frefafea 7 & S9-w wd 7?
2. #H s R :
A =i 2 85 By 18y By Ty 6y 9, 10} (a) p2m=12q
2, @ A % swEg=Er H we, e € de ) 5
IgFd |, 1 27 (b) m p=1"q
(@) 45 €) m?p=q°l
(b) 120 (d) m2p2:12q
(c) 165
(d) 330 i i
& (*11-1\/5} +(—lfh/§J , Sl on, 3
* 2 2
3. i2n+I-2n+l+i2n+2+i2n+3, Tﬂﬁ iﬂ«/_*_l Hﬁﬁﬁ%ﬁ(l-tﬁ%,ﬁ“ﬂ%?
2, 1 HH 1 R?
(a) 1
(@ O
2 4 (b) -1
(c) i g *
(d) -1 d -1
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1. Let S be the set of all persons living in
Delhi. We say that x, yin S are related
if they were born in Delhi on the
same day. Which one of the following is
correct?

(a) The relation is an equivalent
relation

(b} The relation is not reflexive but it is
symmetric and transitive

(c) The relation is not symmetric but it
is reflexive and transitive

(d) The relation is not transitive but it
is reflexive and symmetric

2. LetA={1,2,3,4,5,6,7,8,9, 10}. Then
the number of subsets of A containing
two or three elements is

(@) 45
(b) 120
(c) 165
(d 330

’

3. The value of i?" +i2n+1 1 j2n+2 4 ;2n+3
where i =+/~-1, is

(@ O
(b) 1
(¢) i
(@ -i

GRS-S-FDE/70A

4. If the difference between the roots of the

equation x% +kx+1=0 is strictly less
than /5, where | k|22, then k can be
any element of the interval

(@) (=3, -21U[2, 3

(b) (-3, 3

(c) [-3,-21u2, 3

(d) None of the above

5. If the roots of the equation 224 px+g=0

are in the same ratio as those of the
equation x? +Ix+m=0, then which

one of the following is correct?
(@) p?m=13%g
(b) m?p=12q
() m?p=gq2

(d) m2p2 - 126}'

. The value of

T Ak [FL1=i/E)"
)

where n is not a multiple of 3 and

i=+-1, is

(@) 1
(b) -1
(¢) i
(d) —i

[ P.T.O.




7. %% 1, 2 9 3 ¥ dFH-7hE = 3 YHR

1 TS & TR 3 ey T8 MY B W WK
H -3 gEmatl o A e St 87

(@)

1233

10. IR U AR A AP) F mE H AT n g d

nq‘cﬁ?ﬁﬂ"mm%,?ﬁ(m+n)qa$l?ﬂﬂ
Torgeh wITsR &7

(a) 'mn
(b) 1322
(b)) m+n
(c) 1323
(d) 1332 c) 2(m+n)
(d) -(m+n)
8. 30ft 0.3+0-33+0-333+... % n Tal &l AN
Topereh e 87
i 11. gEmwen - T2 S auw EALICT
(a) % "‘é(“ﬁj 1-(1-i)? =
] i &, A
1. 2 1 ¥
(b) '§_H"§(1_10“]_ (@ 1,0
\ (b) 1,1
@ 3[n-2(1-505)] |
10 fc) 2,0
(@ l[n-l[n 1 H @ 2,1
3 9 0™

12, af¢ T i agae 1 sTerd Trguid: x-31

9. TR 1, 0, 0 T (FFAR) & e &, A@ ¥ =R a2, @ Frafafaa § & ww-a1 98

1+ o)1+ 0?)(1+ o)1 +0+0?) 37

RREPIAIN (@) < T R #

i (b) T TS Ao 9 TH A
(b) -1

¢) O (c) 3F & e affms ©

@ @ (d) el & S ekl
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7. Three-digit numbers are formed from the
digits 1, 2 and 3 in such a way that the
digits are not repeated. What is the sum

of such three-digit numbers?

(@) 1233
(b) 1322
(c) 1323
(d 1332

8. What is the sum of the series

(@)

(b)

()

(d)

0-3+0:-33+0:333 +... n terms?

1[ 1( 1 )
—|ln-= l.ﬁ
3_ 9 10" ]

| =
=

I

W=
P
=2

|
it
a1l FAEN
=
Bt

9, If 1, w, ®? are the cube roots of unity,

then (1+w)(1+0?)(1+0%)(1+0+0?) is

10. If the sum of m terms of an AP is n and
the sum of n terms is m, then the sum of
(m+n) terms is

(@) mn
(b) m+n
{c) 2(m+n)

(d) —(m+n)

11. The modulus and principal argument of
the complex number

1+2i
1-(1-7)2

are respectively

(@ 1,0
() 1,1
c) 2,0
(d 2,1
12. If the graph of a quadratic polynomial lies

entirely above x-axis, then which one of
the following is correct?

equal to
(@) -2
&) =1
¢ O

d 2

GRS-S-FDE/70A

(@)
(b)

(c)
(d)

Both the roots are real

One root is real and the other is
complex

Both the roots are complex

Cannot say

[ P.T.O.




13. AR |z+4 |<3 %, @ |z+1| F Afeekan 74 16. Gfil x2 +bx+c=0 (W& b 3N ¢ YN
ERI B) % Tl 1 I A6 1 o6 IeHAl h AT
W%,ﬁ%,b,%ﬁmﬁvﬁﬁ%‘?

(@ O
(b) 4 (a) AP
c) 6 (b) GP
(d) 10 (c) HP
(d) I T FE T
14. G 22 = 2z % HEl G fha 27
(@) 2 17. W ax? + x+c=0 (W& a 3 ¢ YRR
) % Tl = A STk ol % AeHAT b A
(b) 3 TR B, A a, ca?, c? frg oo § 87
&, (@) AP
(d) A b) GP
(c) HP
15. 3R wfeo x2 +bx+c=0, & b#0, %
Hd coto 9 cotf g, @ cot (o +p) Traes (d) mﬂ_‘ﬁﬁ@ﬁqﬁ
T BT
(@) &l}l 18. [C(7, O)+C(7, 1] +[C(7, 1)+ C(7, 2)]
+0 [C(7,. 6] # C(T, T)]
(@) 254
b
i e (b) 255
(c) 256
{d) _b,
1= (d) 257
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13. If |z+4|< 3, then the maximum value of 16. The sum of the roots of the equation
|z + 1] is x%2+bx+c=0 (where b and c are
non-zero) is equal to the sum of the
(a) 0 reciprocals of their squares. Then
—1, b, = are in
b
(b) 4
(a) AP
{c) 6
(b) GP
(d) 10 |
{c) HP

14. The number of roots of the equation (d) ‘Nome, of the ehave

z% =2% is
17. The sum of the roots of the equation
(@ 2 ax? +x+c=0 (where a and ¢ are
non-zero) is equal to the sum of the
reciprocals of their squares. Then

b} 3 .
() a, ca’, ¢? are in

) 4 (a) AP
(d) zero (b) GP
(c) HP

15. If cota and cotf are the roots of the

equation x? + bx + ¢ = 0 with b # 0, then C
the value of cot (o +p) is

None of the above

18. The value of

0
|
—

@ — [C(7, 0)+ C(7, 1)] + [C(7, 1)+ C(7, 2)]
+aw+ [C(7, 6) +€(7, 7))
(b) 1—;_‘: is
(a) 254
b
@ -5 (b) 255
(c) 256
1-o (d 257
GRS-S-FDE/70A 7 [P.T.O.




19. W% ‘EQUATION’ % 9uif ¥ <HIT 5T Hehel a1 22. Joff

maﬁ%%&am&‘iﬁﬁ@nwaﬂﬁ 1,8,7.15
1 2TREY 9 3id T e | Bl 87 2 4 8 16
| F YUH n 921 1 AT TREE SeR 37
(@) 5200
(@) 2" -n-1
(b) 4320 (b) 1-27"
(¢) 3000 & = wned
(d) %=1
(d) 2160
23. wg=El A9 B % gy 3 fefafas ® fem
Hifv
20. n T H Th GER A0 (AP), TR AW 1. (A-B)juB=A
n? —on %, % qteat ug R e 87 2. (A-BJuA=A
3. (A-B)nB=¢
(@) 5 4, AcB=AUB=B
It § ¥ HHA-Y TR 87
(b) 7
(@ 1,2 33
(€ & (b) 2,3 3R 4
(d) 15 c) 1,334
(@ 1,2 3R 4
21. a-3ih vt frym demedt = A R st 24, wF fE-amurd wrfieo
27 (1p101), +(10g1), = (1007 00),
0475 aﬁp,qarﬁ-wmﬁ%,ﬁp,qaﬁtr
I % o W e e T 7
(b) 2530 (@ 0,1,0
() 1,1,0
(c) 4905
() 0,0,1
(d) 5049 ()= 13181
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19. The number of different words (eight- 22. The sum of the first n terms of the series
letter words) ending and beginning with
a consonant which can be made out of P R S S T

the letters of the word ‘EQUATION’ is
is equal to

{a) 5200 fa) 2" —n-1
(b) 1-27"
(b) 4320
fcg 27" +n-1
fc) 3000 (@ 2" -1
(d) 2160 23. Consider the following in respect of scts
A and B:
_ 1. (A-BjuB=A
20. The fifth term of an AP of n terms, 2. (A-BJUA=A
whose sum is n? - 2n, is . 3. ‘(A—B)mB:(I)
4. AcCcB=AuvuB=B
(@) S
Which of the above are correct?
(b) 7 (@) 1,2 and 3
(b} 2, 3 and 4
(c) 8
fc) 1, 3 and 4
(d) 15 (d 1,2 and 4
24, In the binary equation
21. T.hc sum of all the two-digit odd numbers (1p101), +(10g1), = (1007 00),
is
where p, g and r are binary digits, what
are the possible values of p, g and r
(@) 2475 respectively?
(b) 2530 (@) 0,1,0
(b)) 1,1,0
(c) 4905
(c) 0,0,1
(d) 5049 (d 1,0, 1

GRS-S-FDE/T0A 9 [ P.T.O.




25. AR S={x:x2 +1=0, x TEATH B, @ S 28. IR B UH Yorwlg =gy & IR A TH F

Forey TR 27 AR B, M det (B AB) &1 WH ToFgsh stk
o
(@) {1}
(a) det(B)
{b) 10
(b) det(A)
fc) {1}
(¢) det (B
(d) T Fh g
(d) det(A™)

26. (x-y)", n>5 & TER x F TG F FGE
(x IQE'P %1E°xéaé Ol 29, 4¢ a2b#c 8 d x & Uk UG HE, W

T R, @ L forues e R7
Yy 0 x—-a x-b

x+a 0] xX—-c

(a) E—é§ x+b x+c O
%! HJE A ¢, Foheh SRR 77
n-4
() 5 fa) a
(b) b
5
@ 3 ) c
(d O
6
e
30. 3f
| cosa sin o
a 2 _{—ﬁna cosa}
27. AR A:l:2 a} 3R det(A%)=125 %,
g, @ AAT formes stk ® (ST AT, A =
o Toraes SeR 27 qitEd 2)7
@ =1 (@) WA AR
(b) *+2 (b) TcEHE g
() +3 (c) A
(d +5 [d) -A
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25. If S={x: x2 +1=0, x is real}, then S is

(@) -1
(b) (0} (@)
(c) {1} (b)
’ (d) an empty set (c)
(d)

26. The expansion of (x —y)", n>5 is done

in the descending powers of x. If the
sum of the fifth and sixth terms is zero,

then ~ is equal to

28. If B is a non-singular matrix and A is
a square matrix,
det (B’IAB) is equal to

then the wvalue of

det (B)
det (4)

det (B7})

det (A7)

29, If a# b #c, then one value of x which
satisfies the equation

0 x—-a x-—-b
x+a 0
x+b x+c 0

x—-c|=0

is given by

y
n—-5
(a) e

(b) ”;4 (a)

(b)
5

(c) P (c)

' (d)
n-5

30. If .

27. If A:[Z 2} and det(A%) = 125,

then o is equal to

a
b
c

0

P coso sino
| —sina. cosa

then what is AAT equal to (where AT is

the transpose of A)?

(a) £1 (@

a
(b) 2 (b)
fc) £3 (c)
@ £5 (@)

GRS-S-FDE/70A 11

Null matrix
Identity matrix
A

-A

[ P.T.O.




31. gHw 34. If
x+2y+3z=1

0
2x+y+3z=2 J(; z e
Sx+ 5y+9z =4 i o
Torm TR & #7
(a) T ATGHE & & 3, o Frfafea § @ S9-ar ad 27
(b) TTh I I TA © - |
(c) 3 T T (@) g,ﬁéﬁawﬁﬁa@%

(d) 39 A 4 g T

x+ty Y 3 4
o a1 )3

%t%ﬁAB:C%,?ﬁAQ fopgeh e 27

(b) x, TS o ST H W TH B

c) y, THS & S9SN H ¥ TH B

(@) _44 _?4 (d) 3; ~1 % el 7 ¥ T R
B %

) | g —16}

(c) % =& 35. ®IfE (M) 3x3 & @wh aeggl, Feh
& 12} yfafsai eae 0 1@l 1 %, F Ug=T A W
Fudf] 87 fomm s 7 <fifsg 6 B, A %1 & T

(d) 812J Img=a & T 3 wfi smeg ¥ R

PRt w1 7" 1 2 79 AR R ¢, A ®
T U Sreg=d 3 fes wdt ereqdl %
33. "R (feefife) gt w1 A -1 ®, @ fTefafae & @
5 1 HI-H1 T 7

1 1+ xyz 1

1 1 1+xyz ) e
Topereh =T 27
(@ l+x+y+z (b) B3 & sea €, e 5 cF
(b) 2xyz
(0 x2y222 () A=BuC

(@) Bxtya® (d) BH, CR W I wa R
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31. The equations o 7

x+2y+3z=1 34. If [0 x y|=0, then which one of the
2x+y+3z=2 y 0 x
Sx+5y+9z=4 following is correct?

fa) have the unique solution
X . g
{b) have infinitely many solutions (a) - is one of the cube roots of unity

fc) are inconsistent

{d) None of the above (b)

3 4
32. A= vy ¥ . Bi= and C = :
x x-y =12 -2

If AB= C, then what is A% equal to?

~x is one of the cube roots of unity

(c) yis one of the cube roots of unity

[ 4 8
(@) =i ~16} (d) X is one of the cube roots of —1
L - y
b (4 -4
) | 8 =16
i 35. Consider the set A of all matrices of order
fc) 4 12j| 3 x 3 with entries O or 1 only. Let B be
& the subset of A consisting of all matrices
. _4 -8 whose determinant is 1. Let C be the
(d) 8 12} subset of A consisting of all matrices
L whose determinant is —1. Then which

. one of the following is correct?

33. What is the value of the determinant
1 1 1
1 14+ xyz 1 ?
1 1 1+ xyz

fa) Cis empty

(@ l+x+y+z (b) B has as many elements as C

(b) 2xyz
(c/) A=BuC
(C) x2 y222
(d) 2x°y*z> {d) Bhas thrice as many elements as C
GRS-S-FDE/70A 13 [ P.T.O.




36, T a~| 050 SOl s o 3 30. IR sin A= S 2, Wl 450°< A < 540° 3, T
~sin® cosH ! 5

TR 27 cos % fopees s RY

" cos 36 sin 36 1
@ | _sin36 cos3e @ s
b " cos® @ sin® 0 | (b) _JE
(®) | —sin® 6 cos® GJ 10

"cos 30 -sin 30 (c) %
(c) | sin 30 cos 36

(d) ITGH H H HIE AL

(d) {cos3 § -sind 8}

sin® ® cos® @

et /3 Torerer s 27
sin 10° cos 10°

a h g|| x (@ O
37. x yzl|h b f|ly| A AR (AK)
lg f c]l= (b) 1
T R?
fc) 2
fa) 3x1
(b) 1x1 () &
(c) 1x3
41. 100 m 9% % TH TR-TGFd & 39 ¥ Th
(d 3x3 5
qE H HGTHI-HIY] tan'l(ﬁ) Bl A 3R
o 17 TERTRI-EF o o9 <l gl Terat @7
38 ?%Azt J%,?ﬁA“—IT_l%?
0 (@ 120 m
L b el b) 180
@ |o 4] ® o of (b) 180 m
(c) 240 m
& 0 0] o 0 17
|1 1] |1 0 (d) 360 m
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cosB sin®

36. If A:[ }, then what Iis

—-sin® cosb

A3 equal to?

[ cos 30 sin 36
(@) i —sin 36 cos 36
(b) I cos® ® sin® 0
I —sin® @ cos® 6
[cos 36 -sin 30
@ | A
| sin 30 cos3
(d _coss 6 —sinS 9
i sin® 0 cos® 6

37. What is the order of

a h gl|| x
[x y 2l{h b f yl?
g [ c z
fa) 3x1
(b) 1x1
{c) 1x3
({d 3x3
no T A :l_o 1-] +lhann +ha sraliia ~AF A4
20 11 ﬂ—l- 1 OJ, LLIIT11 L1IlT valulToc Ul 71 1o
1 0] 5 1 17
(a) _0 1_ () \-O OF
o 0] d 0 17
(c) R (d) 1 0]

GRS-S-FDE/70A 15

39, If sin A= g, where 450°< A < 540°, then

A .
cos 5 is equal to

1
“ T
3
B) =75
V3
(c) <10

(d) None of the above

1 N

40. What is — =
sin 10° cos 10°

equal to?

(@ O
(b) 1
(c) 2

d 4

41. From the top of a lighthouse, 100 m
high, the angle of depression of a boat

is tan 1 (l—szj What is the distance

between the boat and the lighthouse?
(@) 120 m
(b) 180 m
fc) 240 m

(d) 360 m

[P.T.0.




42, sin (x + g)+cos [x + -g] &1 AftFaR  9H, 46. tan 18° fohueh s &7

[O,E)%mﬁ,ﬁaﬁaﬁﬁmﬁm%? (@) Serdl
2 10+2v5
(@ 5 b ¢ . _J5-1
& J10++/5
© 3 @ -
© J10+2V5
J5-1
43. 3fq K=sin[nj sin (_SEJ sin (EJ t
18 18 18 T
@ K PR e 37 @ —=3
1 1
(a) = (b) s
- 1 i 1 47.%?&1%111%_& y,zm_amﬁaﬁﬁ@mﬁ
¥ m 16 W UFER & 6 9 GP # % 3 tanlyx,
tan_.ly qal tan"lz @ AP H %, Gl
44, s SMEESINB oos o Frfafaa ° @ -1 wd 87
cosc. +cosp ' e
@l x=y=z2
(@) tan(a‘?ﬂ) (b) xz=
(c) x#yﬁﬂy=z
o+p
" C‘"[ > J @ x=y¥Ry=z
. (o4
. Sm( 2 ) 48, R tan(@+p)=2 3R tan@-P) =18, @

tan (2o) Toresh TU=R 87

(d) cos (oc * B]

2 (@ -3
(b) -2
45, If% sinb = 3sin (0 + 2a) %, ar
tan (0 + o) + 2 tano 1 A fhee SR 87 . 1
C ——
(@ -1 (b) 0 3
fc) 1 (d) 2 d 1

GRS-S-FDE/70A 16




42. The maximum value of

Sles S ibaltid
sin|x+ = |+cos|x+—
i =0 6

in the interval (O, gj is attained at

T T
" fa) 12 (b) =

b m
) (c) 5 _(d} E

43, If K=sin[ njsm(snj sin (ﬁj, then
18 18 18

what is the value of K?

1 1
(a) 5 (b) —

1 1
¢ = (d) Tg

sinc, +sinfd

44. The expression
cosd +cosf

is equal to

fc) sin (0‘. cil

(d) cos (

R
E
=
N W

45, If sin® = 3sin(6 +20), then the value of
tan(® + o) + 2 tana is equal to

(@) -1 (b) O

€ 1 @d 2

GRS-S-FDE/70A

46. What is the value of tan 18°?

J5-1
J10+275

10++/5

J10+275
Y

J10++5

(d) gy

47. Let x, y, z be positive real numbers

such that x, y, z are in GP and tan =1 X,

tan"!y and tan"!z are in AP. Then

which one of the following is correct?
(a) x=y==z

(b) xz=1

(¢} x#yand y=z

({d} x=yand y+z

48. If tan(x +B) =2 and tan(o -f) =1, then
tan(20) is equal to

(g -3
(b) -2
1
(c) "3
(d) 1

[ P.T.O.




49. By ABC % fau Fr=fafed © fomm Hifs -
25

2. tan[B+ CJ = cot[é)
2 2

3. sin(B+C)=cosA

—

4. tan(B+C)=-cotA
mﬁ%ﬁq-ﬁﬁs"rﬁ?
(@ 13R3
(b) 1312
(c) 134
(d 2 3R 3

50. afy sece—cosec():% 2, @ (sin6-cosb)
foraeh s 7
(@) HI - 2
®)

(c) _zaﬂr%aﬁ

(d) qa‘r%,q‘sﬁﬁz

51. afs femelt fygst o1 @k o (1, 1) ® oft 3w il
¥ B WH Al I el % "edfeg
(-1,2) 9 (3, 2) &, A Bisgs 1 S B0

@ (L) w

o () @)

GRS-S-FDE/70A
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52. T T, s sfd A1, v3), B0, 0) 3R
C(2, 0) %, 1 F=d:hr5 BT

V3
@ (1)

o (3
o (32
@ (1)

sa.qﬁ@m%@ﬁa%‘cﬁ'—lmﬁﬂﬁ
(-2, - 1), (1, 0) 3R @, 3 &, A < = =;
Frdure @ 37

@ (1, 2)
(b) (1, 0)
(¢) (0, 0)

@ (1, -1)

54. T Eisl x2+y2=r2 3R
x?2+y?-10x+16=0 A fig fogal w
gi=sa Fd 8, @ Fefafad § & BH-@
T 37

(a) 2<r<8
(b) r=23YdAr=28
(c) r<?2

(d r>2



49. Consider the following for triangle ABC:

; (B+C) [A)
1. sin| ——|=cos|—
2 2

2. tan(B-‘-C):cot[é]
2 2

3. sin(B+C)=cosA
4, tan(B+C)=-cotA

Which of the above are correct?

(@@ 1 and 3
(b) 1 and 2
fc) 1 and 4

(d) 2 and 3

4

50. If secO-cosecH = 3’ then what is

(sin® —cosB) equal to?

(a) -2 only

1
b) — onl
(D) omy
(¢) Both -2 and%

(d) Neither -21- nor — 2

51. If a vertex of a triangle is (1, 1) and the
midpoints of two sides of the triangle
through this vertex are (-1, 2) and (3, 2),
then the centroid of the triangle is

@ (3) w (]

0@ @)

GRS-S-FDE/70A

19

52. The incentre of the triangle with vertices
A(l, ¥/3), B(0, 0) and C(2, 0) is

o
o (3%
o (32
@ (1)

53. If the three consecutive vertices of a
parallelogram are (-2, —1), (1, 0) and
(4, 3), then what are the coordinates of
the fourth vertex?

(@ (1, 2)
®) (1, 0)
© (0, 0)

@ (1, -1)

54. The 2

x? + y2 —10x+ 16 =0 intersect at two

two circles x? + y2 =r and

distinct points. Then which one of the
following is correct?

() 2<r<8
(b) r=2o0rr=28
fc) r<2

[d r>2

[ P.T.O.




55. T 9, sl fog (3, —2) 3R (-2, 0) ¥ T

W%ﬁﬁ?ﬂ%,i@Qx—y—CS:OW
ferq 2, <1 g <1 27

(@ x°+y®+3x+2=0
() x2+y?+3x+12y+2=0
(c) x2+y2+2x=0

[d) x2+y*>=5

56. 3 forgafl A(-2, -2) 3 BE, -4) F Sy

aﬁﬁ@%@ﬁﬁ—gc[—%,—gg)%a
argard & fomifor e 87

(@ 1:3

(b) 3:4

(© 1:2

(@ 2:3

57. T <egd, fmeh Ay (2, O)a'mawzl%,

1 FHR -1 87

2 .02
g =4

64 60
B Bl

) S

GRS-S-FDE/70A

58. Tk Wit @, S 2x+3y+1=0F G &
forg (— 1, 2) ¥ TRt ST B, 1 wHieor R #7

(@)
(b)
(c)
(d)

2x+3y—-4=0
2x+3y-5=0
x+y-1=0

3x-2y+7=0

59. W& WAl & FTA 2x+4/3By=1 3N

JAx + 3y = 2 % s § = A
s sl
(a) tan (E—E)

B tasl [715)

(c) tan~! (3)

(d) tan ! [

J

al~

60. dIfs & Bgs, s (7, x), (y, —6) 3R (9, 10) @

1 R, 1 HBEE (6,3) B, A x I y HEIA:
Toraer s 87

(@ 5,2
(b) 2,5
) 1,0

(d 0,0




55. What is the equation of the circle which
passes through the points (3, -2) and
(-2, 0) and having its centre on the line
2x-y—-3=07?

(@ x?+y®>+3x+2=0
(b) x%+y? +3x+12y+2=0
() x%2+y*>+2x=0

(d) x2+y2:5

56. What is the ratio in which the point
2 20

C[?, = 7) divides the line joining the
points A(-2, —2) and B2, —-4)?
@ 1:3
(b} 3:4
fc) 1:2
fd) 2:3

57. What is the equation of the ellipse having
foci (£2, 0) and the eccentricity Zl?

x* Y
—_— =

@ & "es

B g ]

(c) L gm]

@ 2 +¥ =1

GRS-S-FDE/70A

58. What is the equation of the straight line
parallel to 2x+3y+1=0 and passes
through the point (-1, 2)?
fa) 2x+3y-4=0
(b) 2x+3y-5=0

fc) x+y-1=0

(d) 3x-2y+7=0

59. What is the acute angle between the
pair of straight lines +2x ++/3y =1 and
N3x +2y=27?

o ()

(b) tan! [

=
S——

{c) tan ! (3)

(d) tan ! [

J

60. If the centroid of a triangle formed by
(7, x), (y, —6) and (9, 10) is (6, 3), then
the values of x and y are respectively

@l

(@) 5,2
(b) 2,5
¢ 1,0

(d 0,0

[P0,




61. T e v, e g #E (0, 1, 0) @

(a) x-31&1 % A B |
(b) y-H& % FHIR ©
() 2z-31& F THANR B

(d) B A&l o S TR Gehl B3 &

62. (0, 0, 0), (@, 0, 0), (0, b, 0) 3 (0, 0, ¢) IR
fafim gl 21 39 forg &1 Féwrss, st 3 =@
forgall @ whamm g W 3, @ 37

e 5

3 3 3

a+b+c a+b+c a+b+c
(@)

©) (@ b, o)
@ (53 3)

_—

&
s o
wiQ
wls
Wi
N

63. g P(3, 2, 4), QW, 5,2, R(5, 8, 0) 3R
S@, -1, 6)

(a) %wﬂa,ﬁ@aﬁqﬁ%,%qﬂﬁ~
frg ®

(b) IFEHTENT &
() W@T

(d) wvaei B, foeg e = B

GRS-S-FDE/70A
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64. fgadt (1, 2, - 1) 3R (3,

~1,2) ¥ TSRA 9refl
W1, yz-oadd ¥ Fefafea fogeti 4 9 few
T et 87
@ (053
o (023
@ (053
@ (073

65. Frfifad & & B-d w6 Rk % s Tt
x=ay+b; z=cy+d Bﬂ'{ x=ey+f;
z=gy+hm%?

(a) aet+cg—1=0
(b) ae+bf -1=0
(c) ae+cg+1=0

(d ag+ce+1=0

66. R dg=1-j+k, b=20+3j+2k K
T=1+ j+nk o oraeE gfies € R
1] = /6 &, @ Ffafea 7 @ SF-w1 & |98
27

(b)) m=+23Mn=-1
() m=23Rn=-1

(d m=123Rn=1



61. A straight line with direction cosines

(0, 1, 0) is
(a} parallel to x-axis

(b) parallel to y-axis

g,
oy
—
o
—
a
—
=g
Q
N
g
7

{d) equally inclined to all the axes

62. (0,0 0, (a, 0, 0), (0, b, O)and (0, O, c) are

four distinct points. What are the
coordinates of the point which is
equidistant from the four points?

(@) (a+g+c, a+;)+c, a+§+c]
(b) (@ b, c)

@ (53 3)

@ (559

63. The points P(3, 2, 4), 0@, 5, 2), R(5, 8, 0)

and S(2, -1, 6) are

(a) vertices of a rhombus which is not
a square

(b) non-coplanar
(c) collinear

(d) coplanar but not collinear

GRS-S-FDE/70A

64. The line passing through the points

(1,2,-1) and (3, -1,2) meets the
yz-plane at which one of the following
points? '

o o33
v (o)

o o33
AR

65. Under which one of the following

conditions are the lines x=ay+b;
z=cy+d and x=ey+f; z=gy+h
perpendicular?

(a) ae+cg—1=0

(b) ae+bf-1=0

(c) ae+cg+1=0

(d ag+ce+1=0

~

66. If a=1-j+k, b=20+3j+2k and

=1+ m}' +nk are three coplanar
vectors and |¢|=+/6, then which one of

the following is correct?
(@ m=2and n==+1
(b) m=+2 and n=-1
¢/ m=2and n=-1

(d)f m=t2and n=1

[ P.T.O.



67. HH <Y fF ABCD s wwiat =qus & for
Tl PR ufteae s € aen 7H fifsie i o

Tefig ¥, @ OA + OB + OC + OD Tre%
TR B 7

(@) 20P
(b) 40P
(c) 60P
(d) 80P

68. ABCD UT& =gy~ & W&kl fa&hvl AC 3R BD
3| frfafaa # 9 #9-1 w6 9d 27

—_— == — —

(a) BA + CD = AC + DB
A —) o ey
() BA + CD = BD + CA
—_— —_ —) —)
fc) BA + CD = AC + BD

—_— — —

—
{d BA + CD = BC + AD

69. I dxb-¢ M bxd=a 2, @ Fmfifad
# @ -9 T gel 27

(@ & b ¢ g A cwEohy ¥ e
|d|=[&|au |b| =1
(b) @ b, ¢ TER FETHN

(c) & b, ¢ T H wEwvim B, Ty

GRS-S-FDE/70A

70. TRt g =27 +3j+4Kk Wb = 3{ +2]- Ak &
T, @ A 1 AE T4 R7

(@ 2

(b) 3

(d) 5

X

71. tim £ 200 fred e 37
x—0 x2

(@ O

(b)

M| =

(¢ 1

d 2

72, |? de WW%?
0 1+cos@

1
{a) 5

(b) 1

(c) 3

(d) 35 H g

24



67. Let ABCD be a parallelogram whose
diagonals intersect at P and let O be the

—_) = = —
origin. What is OA + OB + OC + OD

equal to?
——
fa) 20P
——3
(b) 40P
—
{c) 60P
-
(d) 80P

68. ABCD is a quadrilateral whose diagonals
are AC and BD. Which one of the
following is correct?

e F— —_ e
(@ BA + CD = AC + DB
YT A == e —
(b) BA + CD = BD + CA
=) ) oy =
¢/ BA + CD = AC + BD

_ = = —
(d BA + CD = BC + AD

A L e | .
69. Ifaxb =c and b x ¢ = a, then which one
of the following is correct?

_ b d
{a) @, b, ¢ are orthogonal in pairs and

|d|=|2| and |b|=1

I
(b) &, b, ¢ are non-orthogonal to each
other
o
(c) d, b, ¢ are orthogonal in pairs but
— -
lal#|c]|

(d) a, g, ¢ are orthogonal in pairs but

-
|b|#1

GRS-S-FDE/70A
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70. If @=2i{+3j+4k and b =3 +2j-AK
are perpendicular, then what is the
value of A?

(@) -2
(b) 3
fc) 4
(@ S

x —
What ds Tim S 144
x—0 x

71. equal to?
(@ O

(b)

| SR

d 2

72. What is _[05 ul_ﬂé equal to?
+cos

1
(a) 2

(b) 1
(c) 3

(d) None of the above

[ P.T.O.




X ey TR 7

x(x7 +1)

73. |

(a) 51 In

x?

7

1
(d =In
7 |

+C

74, X I Y & HANM: T4 AFT % TAT Hed

F:X Y, flx)=cosx gr Fifea ¥, sl
x € X 8, Theh! 3R TT=a1es gPN T

(@ [0, m3M[-1,1 °

(b) [5“ g]aml, 1

(c) [0, m 3R (-1, 1)
(d) [0, m 3R [0, 1]

LA e w37

75. AR flx) =2 B, o

x-1

@ £(-=%]

a+1

(b) fl(a?)

e

(d) f(-a)

GRS-S-FDE/70A
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e-1 x-1
76. (x +e* " )dx T 2
.[ x€ +e* %

x2

(a) 7+c

(b) In(x+e)+c

fc) In(x®+e*)+c

{d) 1ln (x¢ +e®)+ec
e

77. 94 e B fFi[-6,6) >R 3T, S fh
flx)=x2 -3 g ffga 21 F=fafes =
TR $ifeTe

L FefFI-0=0f o f=f]Q)

2 (FefefI=4-4lf o f e F)Y
=(f =N

IE A | FH-/E | R/
(@) Had 1

(b) A 2

(c) 1 3R 23Mf

(d @182

78. WH T f(x) = px +q AR glx) =mx +n
2, @ f(g(x) = g(f(x) T gea 7

(@) f(p)=g(m)
(b) fla)=gn)
(c) fn)=gla)
(d) fm)=g(p)



73. What is . 1dx
X(x" +1)

equal to?

B ]

1
(@) =In
2 %7 1

1 0 4
(b) =In
7 nel¥

+C

(c) 1n

ﬁy-%m

+e
by |

74. The function f:X—>Y defined by
f(x) = cosx, where x € X, is one-one and
onto if X and Y are respectively equal to

@) [0, m] and [-1, ]

n

T
(b) [~5, 5} and [-1, 1

(c) [0, ] and (-1, ]
(d) [0, m] and [O, ]]
75. If f(x)=—L, then what is Jla)

x—1 fla+1)

equal to?

@ f(-=2)

a+1

(b) f(a?)

o 1)

@ fl-9

GRS-S-FDE/T7T0A 27

e—1 + ex—l)dx
X

76. What is j [ equal to?

x€ +e
2

{a) x?+c

(b) In(x+e+c

(c) In(x®+eX)+c

(d) i (x® +e*)+c
e

77. Let f:[-6,6]—>R be defined by
flx) = x?2 - 3. Consider the following :

L Pefe -l =Fel el

2. (fafe -1 =3f=Fof){])
=(f =)0

Which of the above is/are correct?

(@) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

78. Let f(x)= px+qg and g(x)=mx+n. Then
flgx) = g(f(x)) is equivalent to

(@ f(p)=g(m)
(b) flg) =g
() f(n)=glq)

(@ f(m)=g(p)

[ P.T.O.




79. R F(x)=v9-x2 &, @

lim
x—1 x-1

g s 87

1

(@) ”Zj—é‘

(b)

0!

€ -=4

d —=

GRS-S-FDE/70A

F(x)-F(1)
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81. #M whfsg

X, @Iﬁxfrf{'ﬁﬁ%

f"‘”{o, el it &

g(x]‘{o, Eﬁﬁx’ilﬁfﬁl%
xR x emafomE B

IR RHRMg:RHRR, AW (f-g)©
() THH A TG (- T )

(b) 7 T THE, T H ATEBEH

(c) TF-TH IR A=BEH

(d) THH AR FBEH

82. e SrEay e il oaTs = 7, NHH e

f(x) = 3sinx - 4sin® x

IEAE 37

(@)

wla

(b)

N3

€ —

(d) =

83. IR xdy = y(dx + ydy), y(l) =1 AR Yx)>0

R}, @ y(-3) forash swmr 37
(@) 3
(b) 2
(c) 1
(d 0



79. If F(x) = Jo-x2, then what is 81. Let
. [x, xisrational
F(x)-F () T i tiond)

Tin et A

and
equal to? 0, xisrational
glx): _
X, xisirrational
(a) 1 If f:R—>Rand g: R >R, then (f - g)is
4+/2
{a) one-one and into
(b) é (b) neither one-one nor onto
{(c) many-one and onto
1
- (d) one-one and onto
(c) Wi
82. What is the length of the longest interval
@ 1 in which the function
242 f(x)=3$inx—4sin3x
is increasing?
80. What is &%
J at is — equal to? (a) —
dy 3
i
P ) =
@ (@J (2) ’ 2
dx?) \dx
@ =
-1
w [F2y) (d 2 (@) =
dx? ) \dx
83. If xdy=yldx+ ydy); y(1) =1and y(x) > 0,
‘ then what is y(-3) equal to?
d2y dy -3
o {2 @ 3
| (b) 2
-1
2 (c) 1
(@ [d 2y] :
dx (d o

GRS-S-FDE/70A 29 [ P.T.O.




84. BeH f(x)=4sin?x+1 ® AUFA TH
F1 27

(@) 5
(b) 3
(c) 2

(d 1

85. UM T f(x), sin? x I Th AId GHTR
2l

Frefafiad wu ) fa=ar Fifs

$¥d 1 :

W f(x) GgE BA B flx +m) = f(x) F,
gsfi arEafas x % fag)

%Y 2

sin2(x+n) =sin? x ®, Ot arafas x &
fer|

st el % wed § Frefafaa § ¥ FR-w
TF e B Y

(@) ST HH HEl @ R FUA 2, HIH 1 H
el Bl B

(b) < FF G B, TR FUR 2, FOH 1 W
T SR T ®

(c) F 1 TE R, Thg FoH 2 7o 2

(d) FF 17Tad 8, fheg oM 2 98 8

GRS-S-FDE/7TO0A
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86. 3l GHIHI
_ (dy)?  [(ax)?
v=+(3) (%)
I ferft R wfe (371ER) Foven: = €7
(@ 1,2
(b) 2,1

(¢ 1,4

d 4,1

87. q & fadlim =6 W y2—2ay+x2 =a?
A 3Taehe THERT H1 87

(@ (x*-2y*)p? -4pxy-x?=0
(b) (x* -2y*)p? +4pxy-x> =0
(¢) (x%+2y*)p? -4pxy-x*=0
(d) (x*+2y%)p? —4pxy+x* =0

&

dy
WEl p = =2 %|
P ;

88. Iadhd WHIU ydx —(x +2y%)dy=0 I

T T 1 27
(@ x=y?+cy
(b) x = 2cy2

(€ x=2y°+cy

(d) 3T A | B3 T



84. What is the maximum value of the 86. What are the degree and order

function f(x)=4sin? x +1°? respectively of the differential equation
2
_ [y (ax
@ s =x(ot) (%) ?

(b) 3 (@ 1,2
| © 2 ) 2,1
1, 4
(d 4,1

85. Let f(x) be an indefinite integral of sin? x.

87. What is the differential equation

Consider the following statements : corresponding to y? —2ay+ x? =a? by
eliminating a?

Statement 1 : o

(@ (x2-2y2)p2 —4pxy-x2 =0
The function flx) satisfies ( yp et
=% f 11 1. %

flx+m = f(x) for all real x (b) (x2 -2y?)p2 +apxy-x2 =0
Stat t 2 %

atemen (c) (x2 +2y2)p2 —4pxy—x2 =0

sinz(x+n) =sin? x for all real x. :
(d) (x?+2y%)p?% -4pxy+x2 =0
Which one of the following is correct in

2
respect of the above statements? where p = % )

{a) Both the statements are true and
Statement 2 is the correct

: 88. What is the general solution of the
explanation of Statement 1

differential equation

2 —
(b) Both the statements are true but ydx —(x +2y~)dy=07?
Statement 2 is not the correct
explanation of Statement 1 (@ x=y°+cy
(c) Statement 1 is  true but (b) x =2cy>

Statement 2 is false

() x=2y°+cy
(d) Statement 1 is false Dbut :
Statement 2 is true (d) None of the above
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8o, A ol fp wfi x R y F Faw o1. Wmln[%]—azoiﬂﬁw%?
Flety =100 SR, A £(5) Frk TR 7 dx
[ST&T f(x), f(x) 1 ahas §)?

fa) y=xe+c

(@) f(5) 0
| e a
®) 16 F0 ke
(e) (8 (0 € P
(d) f(5)+f(0) (d) x=Iny+c
92. AF wifvg foF £(x) Fremgar fuffa @
2x+1, -3<x<-2
90. R flx) IR glx), f¥)=fla-x 3N fo=1{x-1, -2gx<0
g(x]+—g(a—x)=23ﬁﬂ'§2$l‘:lm?fﬁ?lﬁ x+2, 0<x<l1

wer &, A [ £ gl dx T s &7
g wem % wed § frfafad sl A @

. SH-H1 Uel 87
(@ [ gldx
(@) 8 x =—2 T JNEA &, Al Tedh I
forg W daa ?)
(b) [ flxdx
(b) F& Faa AW (- 3, — 2) H HdAd 2|
() 2 fladx () TE x=0W A 2, WA Tk a1
forg W wad B1
(d) 0 (d) I8 YA forg W 316 2|

GRS-S-FDE/70A 32



89. Let f(x+ 1y = f(x)f(y for all x and y. Then
what is f'(5) equal to [where f’(x)is the
derivative of f(x)]?

(@ f5f0)
’ (b) f(5)-r0
(c) f(5)f(0)

(@ [+ 0

90. If f(x) and g(x) are continuous
functions satisfying f(x) = fla—x) and
gix)+gla-x)=2, then  what is

jg f(x) g(x)dx equal to?

(@ [ glxdx

(b) [] flx)ax

(c) 2 flxdx

(d 0

GRS-S-FDE/70A

91. What is the solution of the differential
equation

ln[dyj—a=0?
dx

(@) y=xe® +c
(b) x=ye* +c
fc) y=Inx+c

(d x=lny+c

92. Let f(x) be defined as follows :

2x+1, -3<x<-2
flx)=3 x-1, -2<x<0
X+2; O0<x<1

Which one of the following statements is
correct in respect of the above function?

(a) It is discontinuous at x =-2 but
continuous at every other point.

(b) 1t is continuous only in the interval
(-3, -2).

(¢) It is discontinuous at x=0 but
continuous at every other point.

(d) 1t is discontinuous at every point.

Bzuniel




93. Ffdfaa weml w femm fif
1. 3% lim f(x) 3R lim g(x) A1 formm™

X—a

& @ lim (/) g} Fremm 21

2. IR lim {f()glx) Temm 2, @

X-—=a

lim f(x) 3 lim g(x) I EW

X—a

ERCIER
I Al H H FA-E1/H W B/87
(@) Fad 1
(b) Fad 2
fc) 1 3 2 qHI

(d) T@M1L, A8 2

94. Ffafed el A @ FHA-ATTH AT A, 7
& faum?

(a) = il
(b) x+§

x
fc) |x|

(d) x?(x-3)

GRS-S-FDE/70A

95. log;( (5x2 + 3) I x &% W& Yesherst 1 87

x log,q e
5x2 +3

(@)

2x logig e

b)
f 5x2 +3

10x log,g €
5x2 +3

(c)

10x log, 10

(d)
5x2 +3

96. T TR fla) = 21 3
a+1l

frfafas @ foem Hf

1. fRa)= fl@+1

2. £(3)--r@

IYE § A BH-E1/H WL 2/80
(@) Fad 1

(b) a2

(c) 13 23H

(d Fd@1, A2



93. Consider the following statements :

1. If lim f(x) and lim g(x) both exist,
X—=a

X=ra

then lim {f(x)g(x)} exists.
X—a

2. If lim {f(x) g(x)} exists, then both
xX—=a

lim f(x) and lim g(x) must exist.
xX—a X—a

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
fc) Both 1 and 2

(d} Neither 1 nor 2

94. Which one of the following functions is
neither even nor odd?

@ x2-1

@ we2
X

(c) x|

(d) x%(x-23)

GRS-S-FDE/70A

95. What is the derivative of log;, (5x2 +3)

with respect to x?

(@ x logio €
5x2 +3
(b) 2xlogip e
5x2 +3
(© 10x log;g €
. Bx® +3
() 10x log, 10
5x2 +3
a—1

96. Let fla)=——.
a+1

Consider the following :

1. fRa)=fl@+1

2. f(3)=r@

a

Which of the above is/are correct?

(@) 1 only
(b) 2 only
(c). Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.




97. o Ti=a arel 99 o Tt (JFcrid) S ST HeRA

arel Fiyst w1 AftreRan SEe w27

@ =2

b) %

@ =

el S

98. maﬁﬁqﬁﬁf(x)zm%%,aﬁxe(o, ) &,

4 fFrafafae & @ =9-w w6 w8 77
(@) f(x), S H Fea-sed @
(b) fix), Faua § aduE 7

(c) fl(x), U | GREWH

(@) T H T P T

99. HM lifSY & weM f(x)=x", n# 0 T&F x

% oy stawerE B, @ n TFE Saue 1 +E
AT B Hehdl 87

(@ [1, «)

(b) (0, =)
o (&9

(d) 39 | 9 HIE T

GRS-S-FDE/70A

dx Toras e 87

e? |In x
100. [, r—

(@)

N w

(b)

[ SRNd)

) 3

(d) 4

101. 20 &0l 1 THwO 5 7| AR TAF Vo1 I 3 A
Ton TR e, A uRomd Qe w1 A gE
F1 B Y

(@) S
{b) 10
(c) 15

(d) 45

102. 100 euil & TH THE H1 WL 20 W AT
9. W U8 9 T TR =R Yavl el 9, e
21, 21, 18 3R 20 & fer w0 o Al
TTad D&l 1 Bre feTr SY, 9 W o Re

(@) 18
(b) 20
{c) 21

(d 22



97. What is the maximum area of a triangle
that can be inscribed in a circle of

radius a?
(@) §22_
. (b) E;
t (c) i@gi
4
() ‘/34“2

98. Let f(x)=x+—1—, where xe€ (0, 1. Then
X

which one of the following is correct?
(a) f(x) fluctuates in the interval
(b) f(x) increases in the interval

i (c) f(x) decreases in the interval

{d) None of the above

n

99. Suppose the function f(x)=x", n# 0 is
differentiable for all x. Then n can be

any element of the interval

@ 11, =)
) (=
@ (3 =)

(d) None of the above

GRS-S-FDE/TOA

2
100. What is [°, ln—x’dx equal to?
€ X
3
(@) 2
5
b et
(b) )
() 3
(d) 4

101. The variance of 20 observations is 5. If
each observation is multiplied by 3,
then what is the new variance of the
resulting observations?
fa) S
(b) 10
(c) 15
(d} 45

102. The mean of a group of 100 observations
was found to be 20. Later it was found
that four observations were incorrect,
which were recorded as 21, 21, 18 and
20. What is the mean if the incorrect
observations are omitted?

(@) 18
(b) 20
fc) 21

(d) 22

[ P.T.O.




103. < geul &R &1 Afgenst # A q Akl B 106. < 7P w2l A @R B & fag @8 fear mn

Al aE s B o wiiesar @ T wfufa # 2 % P@)=0.2 3 P(B)=0.5 2 AR
e Afgay, g ? Ac B?, @ wufasy miekaisit p(A|B) ¥R
1 P (B|A) % |H H: F1 27
o) & g g
| @ %'
1
(b) = ‘
3 2
(b) 5’ 1
© = 2
2 (¢ 1, 5
@ 2 (@) N o

, 107. TF 99 % et ws fog ugfeas &9 9 o
104. i frrbiEl A, B i ¢ =i ©&F w1 T i 2 $
e e e b ST 21 & T 98 forg 39 ¥

11 1 ooy <hY e IGF Feg o Afes g w17
2R - B w R € TR T g R g
g B 4 @ L
ST ! 5
1
@ o B 2
1
1 (c) —=
(b) 7 3
1
3 (d) 5
(c) :}
gy =8 108. R 4y-15x+410=0 3
24

30x - 2y- 825 =0 H=E (x) 3R ¥R (y) &
= A gy Y ¥, @) F9E SR AR &
105. foredt e & 150 FrenffEt &1 mea a5 60 kg < TEgrEry T w1 R

2| FaT ¥ SH F ALY 94 70 kg B R @ 1
TSI 1 55 kg €1 HET T TSH] hl HEAT 3

fopat 87
e ®

(@ 50
(b) 55 © 2
' 3

(c) 60
@ >
(d) 100 4
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103. A committee of two persons is constituted

from two men and two women. What is
the probability that the committee will
have only women?

106. For two dependent events A and B, it is

given that P(A)=0-2 and P(B)=0-5. If
AcC B, then the values of conditional
probabilities P(A|B) and P(B|A) are

1 respectively
(a) 6 (@) 2 3
a) =, —
g '8 5
() = 2
3 b) =, 1
B 3
1
() - 2
c) 1, =
2 (c) =
(d) % (d) Information is insufficient

107. A point is chosen at random inside a

104. A questi is given to three students A, : : oo
GRS ik circle. What is the probability that the

B and C whose chances of solving it are

1 1 1 _ ] point is closer to the centre of the circle
2 3 and 7y respectively. What is the than to its boundary?
probability that the question will be (@) o
solved? 5
1 () -
a ey
@ >4 4
1
1 =
(b) = (c) =
|
3 d -
C J—
e = 2
(d) 23 108. If two regression lines between height (x)

24 and weight (y)are4y- 15x+410=0and

30x -2y-825=0, then what will be
105. The mean weight of 150 students in a the correlation coefficient between

certain class is 60 kg. The mean weight height and weight?
of boys in the class is 70 kg and that of

1
girls is 55 kg. What is the number of (a) 3

boys in the class?
1
@ 50 W%
(b) 55 ) 2
3

60
(c) 3
@ —
(d) 100 <
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109. Fre when & 40% sr=ffal 3 fdrm 2oft wmw 112. 9 =v Ugferd &9 9 stamfig &, 1 Frafeiad

$1 af siwg A ok gIRE (TR WE) H gt Tl § | RE-H UF Wel of
Frefia feran man &, o fidfr 2oft % @@ &

1 A o R? (a) 2 x99 fo=@q = 5 x afraa fo=em
(@) 40° (b) 90° : (b) 5 x AFE fa=em = 2 x 3w fa=eH
(c) 144° (@) 320° | (c) 4 x A FIeM = 5 x sfreq forerem

(d) 5 x"HH fo=ae = 4 x fea fogem
110. Frafifaa se ® fer AR

— 113. F=fafaa § 3 frm w9 9 39 1 y&ga o s
 Hehdl B7
T, GREAYT FT T T A9 AR 8 N a—
HUH 2 2. WRUieRg &9
W, W A % oG ¥ 9ga oI 3. el wW
ST e & +frt feu T e 1 FERT R EE) IR g
Sug Al & e # frfafea # @ wE-m (@) @12
el 87
Fae 2 AR

(@ F9 1 3R FF 2 JA T T IR % 2 oS

FF 2, HUF 1 T Gl TIEH 8 (c) Faa 133
(b) F 1 IR FoH 2 AT WA &, A (d) 1,233

FUA 2, FUF 1 H1 FE TEH TE B

(o) R L &, RN e 2 R 114, foo o e e % f, s A
(d) U 2 W ¥, ARRT B 1 7T B % for i sfmeg & wfyes % T o i
0 %)k A W RS R PR, A
farg P b1 9, e wgin % fom wdi A @

111. 3731 @& ¥ Hd T 52 UKl h AYRO AT H-91 T 1 27
ww TE A A T aen Fepren S ¥ 39 96 Al
w1 Wi & T 97 3o 7 (a) TR
1 2
@ 75 v Ll
(c) dSgeTd
3 1
@ == @ = (d) TR T

GRS-S-FDE/70A 40



109. In an examination, 40% of candidates
got second class. When the data are
represented by a pie chart, what is the
angle corresponding to second class?

(@) 40° (b) 90°

(c) 144° (d) 320°

110. Consider the following statements :
Statement 1 :

Range is not a good measure of
dispersion.

Statement 2

Range is highly affected by the
existence of extreme values.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement 1 and Statement 2
are correct and Statement 2 is the
correct explanation of Statement 1

(b) Both Statement 1 and Statement 2
are correct but Statement 2 is
not the correct explanation of
Statement 1

(c) Statement 1 is correct but
Statement 2 is not correct

(d) Statement 2 is correct but
Statement 1 is not correct

111. A card is drawn from a well-shuffled
ordinary deck of 52 cards. What is the
probability that it is an ace?

1 2
(a) 13 (b) 13
(©) @ =
13 52

GRS-S-FDE/T70A

112. If the data are moderately non-
" symmetrical, then which one of the
following empirical relationships is
correct?

(@) 2 x Standard deviation
= 5 x Mean deviation

(b) 5 x Standard deviation
= 2 x Mean deviation

(c) 4 x Standard deviation
= 5 x Mean deviation

(d) 5 x Standard deviation
= 4 x Mean deviation

113. Data can be represented in which of the
following forms?

1. Textual form
2. Tabular form
3. Graphical form

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
¢/ 1 and 3 only
(d) 1,2 and 3

114. For given statistical data, the graphs for
less than ogive and more than ogive are
drawn. If the point at which the two
curves intersect is P, then abscissa of
point P gives the value of which one
of the following measures of central

tendency?
fa) Median
(b) Mean
(¢) Mode

(d) Geometric mean

[P0,




115. Tefefad suei w e fif . 118. 3t 41 3@ 9@ HF 4 ¥, D Fm wikewar R

1. A e TRERE w9 @ eaRia £, AR fh ArmRa 9 1 8 7, T € 9°
T HeAT 1 Hid g1, g HeAT % Hfed 1
B 1 Jehall 21 @ 5
2. T URWNEH €9 § AUERia Heds % )
affed il wiReear, IR 9UE @ %
TRl % I % SO 8|
s ol 3 /A w2 ©
(a) Had 1 5
(d) —
(b) AT 2 6
(c) 1 3R 2 g
(d 1,782 119. #H <ifSg f% A R B < urwufes swafsig

e 8, el P(A):% 3R P(B)=% Bl
116. Ifd x F y W A y F x T THIR 0N

P(A ~B) % 9H HI1 87
HH: —%ﬁﬁ—%%,?ﬁxﬁny%aﬁa

HEEwY T 1 7 | Y é
@ -1 ® - ® 5
@ @ 4 © 5
117. 5 Y&l % U Wiiesl &1 WeA 32 91 HISwH (@) 155

33 21 9€ A ¥ I T4 o6 e e erdi |
35 % TYM W 40 & L o m o1 afe &
ad ) % w8, 9 Freafafea 7 @ SE- 120. TrHt f5ug svea 1 A1eg 3R oA fomes s

el 87 12 3R 2 2| AP (qheen) g
(@) W R e 98 = A LRl
(b) Witk & wdt ¥, fhg W wwW oA (@ 2

e (b) 12

(c) Wed 3R HiERR A1 %9 | 9 §

(d) e g WA g, T W R
STl @ (d) 24

fc) 18
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115. Consider the following statements :

1. Two events are mutually exclusive
if the occurrence of one event
prevents the occurrence of the
other.

2. The probability of the union of two
mutually exclusive events is the

sum of their individual
probabilities.
Which of the above statements is/are
correct?
{a) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

116. If the regression coefficient of x on y
1 1 ;
and y on x are ~3 and ~8 respectively,

then what is the correlation coefficient
between x and y?

1 1

(a) "4 (b) 16
1 1
(c) 16 (d) 2

117. A sample of 5 observations has mean 32
and median 33. Later it is found that an
observation was recorded incorrectly as
40 instead of 35. If we correct the data,
then which one of the following is
correct?

(a) The mean and median remain the
same

(b) The median remains the same but
the mean will decrease

() The mean and median both will
decrease

(d) The mean remains the same but
median will decrease

GRS-S-FDE/TOA

118. If two fair dice are thrown, then what is
the probability that the sum is neither 8

nor 9?
@ <
® 5
© >
@ 2

119. Let A and B are two mutually exclusive

events with P(A) = é and P(B) = Zl What

is the value of P(A nB)?

(@ —
®
© %
@ =

120. The mean and standard deviation of a
binomial distribution are 12 and 2

respectively. What is the number of
trials?
(a) 2
(b) 12
(c) 18
(d) 24
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